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AL TREMER REE AR IR REE
SHTE | HH6E R | SFTE | SH6E R | SFTE | SF6E R | SFTE | SF6E WE | SFTE | SF6E R | HFTE | SF6E R
B F O K 130 86 44 116 86 30 89.2 100.0 -10.8 342 320 22 216 232 -16 63.2 72.5 9.3
54 (ITI—) 48 38 10 45 38 93.8 100.0 -6.2 174 132 42 115 83 32 66.1 62.9 3.2
5 bt 26 18 24 18 6 92.3 100.0 -7.7 43 63 -20 34 45 -11 79.1 71.4 7.7
5 bHhX 11 7 11 7 4 100.0 100.0 22 15 7 12 11 1 54.5 73.3 -18.8
5 bHEK 2 1 1 2 1 100.0 100.0 16 14 2 11 8 3 68.8 57.1 11.7
SbmK 9 12 -3 8 12 -4 88.9 100.0 -11.1 93 40 53 58 19 39 62.4 475 14.9
B2 % b 31 18 13 29 17 12 93.5 94.4 -0.9 68 74 -6 45 71 -26 66.2 95.9 -29.7
b= ST ) 6 4 2 6 4 2 100.0 100.0 15 10 5 13 11 2 86.7 110.0 -23.3
E - 5 2 3 5 3 2 100.0 150.0 -50.0 6 4 2 3 4 -1 50.0 100.0 -50.0
£ ® W 18 2 16 8 3 5 44.4 150.0 | -105.6 3 12 -9 2 14 -12 66.7 116.7 -50.0
F R 0™ 2 -2 2 -2 - 100.0 | -100.0 3 5 -2
F S ) 1 1 1 100.0 - 100.0 10 7 6 4 2 60.0 57.1 2.9
5 2 W 3 1 2 4 1 3 133.3 100.0 33.3 5 3 1 1 20.0 20.0
R W - - 2 2 3 2 1 150.0 100.0 50.0
5 &1 1 -1 1 -1 - 100.0 | -100.0 6 10 -4 2 10 -8 33.3 100.0 -66.7
wmE AN W 2 1 1 2 1 100.0 100.0 8 11 -3 1 5 -4 12.5 455 -33.0
T S 1 3 3 3 3 100.0 - 100.0 3 11 -8 3 1 100.0 9.1 90.9
E E W 1 5 -4 1 5 -4 100.0 100.0 18 2 16 10 1 55.6 50.0 5.6
£ fF 0wW 1 1 1 1 100.0 100.0 3 4 -1 1 1 333 25.0 8.3
b= R 2 2 2 2 100.0 100.0 8 14 -6 2 15 -13 25.0 107.1 -82.1
R AR AT 2 -2 1 -1 - 50.0 -50.0 1 5 -4
HMEME S AT - - 1 4 -3 3 300.0 300.0
& O ER Bk |y - - 1 1 4 1 400.0 100.0 300.0
NNy N i) - - 4 1 3 1 5 -4 25.0 500.0 | -475.0
B E B EA - - - -
& M R 5E B Ay 1 -1 1 -1 - 100.0 -100.0 1 2 -1 1 -1 50.0 -50.0
P FH AR B o0 T 1 1 1 1 100.0 - 100.0 1 1 -
f FH AR 5 % HT - - 1 -1 1 -1 - 100.0 -100.0
EHEFEERN - - - -
AKEBAKFGHET - - - -
A K BB 3% K ET 1 2 -1 1 2 -1 100.0 100.0 1 2 -1 1 1 100.0 50.0 50.0
NS BB 2 o SR T 1 1 1 1 100.0 100.0 3 -3 1 -1 - 333 -33.3
B BNE 6 3 3 6 3 3 100.0 100.0 - -




